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3080 HHHHT 0 475
3090 H A E AT 0 463
3100 HhFaHET 0 471
3110 EHAILHET 2 487
9999 /\FHERXET 10 8500
3510 2R LHT 0 193
3520 £ R chfT 1 374
3530 2R THT 1 1045
3540 =B KHT 0 402
3550 AETHT 1 804
3560 = T ERAT 0 302
3570 = T AT 0 811
3580 FLIFTHT 0 537
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3590 EHT 0 18
9999 S HKXE 3 4486
4010 41| RET 0 329
4020 {E&HT 2 94
4030 5HT 1 236
4040 = HEAHT 1 247
4050 7K EHT 1 515
4060 E=Z HHET 2 383
4070 JtJRHET 0 195
4080 =;T;HAMT 0 229
4090 FR ek HET 0 327
4100 g FEFOET 0 150
4110 JtFFOET 0 172
9999 &M XET 7 2877
4510 EREE—ZEHT 1 740
4520 EREE — ZEHT 1 194
4530 EREE=ZEHT 0 214
4540 EREEIUZHET 2 181
4550 EREE FFHT 0 110
4560 EREENEEHET 1 103
4570 EREE-HZFHET 0 151
4580 EREE)\ZHT 0 100
4590 EREE N FEHT 0 152
4600 EREE-+ZEHET 0 215
4610 EREE+—ZHT 1 245
4620 B+ —FET 0 377
9999 ERERXET 6 2782
5010 BRF0H £ HT 0 234
5020 BAF0BAELET 0 217
5030 FRFNREI{—HT 1 245
9999 BRFIMXET 1 696
5510 b RHET 1 220
5520 = HhHET 1 664
5530 FA=HT 1 502
5540 THEHRT 1 284
5550 EEHET 0 59
9999 =R X 5t 4 1729
6010 [E]ET/]NER 0 101
6020 [z ET = 0 118
6030 [EET &I 0 98
6040 EiEIFHET 2 223
6050 JI|ABTE 0 159
6060 JI|EHETF 1 127
9999 BEERXET 3 826
6510 B &= A#GHET 0 25
6520 HZEAKIEHET 0 212
6530 B E AFTHHET 0 98
6540 HZEALLTHET 0 195
6550 B E A Z NET 0 88
6560 HRAIEILHET 0 130
6570 B EALERIHET 0 140
6580 H&EAEHT 0 94
6590 HZ= ATHET 0 60
6600 HZA T 0 82
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6610 HEA _LFEHT 0 40
6620 HZE AT 0 55
6630 HZE AT FGHET 0 81
6640 B &= A EitslT 0 34
6650 HZASHET 0 1
6660 HZ A RLHET 0 29
9999 HEARKKXET 0 1364
7010 Z B MO E 1 174
7020 — R AHT 1 228
7030 = R IRHNET 0 106
7040 — BT KEFHT 0 200
7050 — B E7 H I HET 1 108
9999 — R&XEt 3 816
8011 JRAETFERLY 0 60
8012 RAETFHERA 0 141
8013 YR AHTFEER (& 0 78
8021 IRAHTIZEKLY 0 79
8022 YR AHETIEKA 0 3
8023 IR AHTIEKIL 0 9
8031 YAHETH ALY 0 165
8032 IRAHTHA A 0 9
8033 FAHETH AL 0 15
8041 IR AHTELIRL 0 50
8042 IR AHTELIRA 0 22
8043 IR AHTELIR L 0 14
8044 IR AHTELIRIC 0 29
8045 IR AHTELIR (X 0 48
8050 i AHTHRA 1 130
8060 I AHT 7R 1 107
8070 JRABTER 0 98
8080 MR AETHkHA 0 52
8090 IR AHTHEE 0 38
8100 JRAHBTH /1% 0 16
8110 IRAHTJII 5 0 44
8120 IR AHTER" 1 86
8130 IR AHTH L 0 83
8140 IRABTHFRKT 0 119
8150 IR AHBTEFRK L 0 76
9999 AR X ET 3 1571
9010 +THTAKEH 1 639
9020 FTHTHEA 2 419
9030 FTET#%EH 1 1346
9040 FTHIHEHE 1 1458
9999 FT X5t 5 3862
9110 SRET T HIE 2 593
9120 SFETH L 0 267
9130 $EHTH & 0 137
9140 $RAT T4 0 429
9150 $EMT L 45 1 517
9160 SRETERHT 3 773
9170 $RATNEA 0 1024
9180 $xHTEE 0 640
9190 $FETZ O 0 242
9200 i ET Fr il 0 229
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TBET (KF)a—K {TEET(KF)% 100l E AOFt
9210 $RHETE H
9220 $EHT 7 H
9230 $EHTE M
9240 $RHETIEE
9250 % HT At #r b
9999 R &t 1
9310 E[FHET:AR
9320 H[SHETIL
9330 FH[SAT/INE 151
9340 R[ZHETE 404

0 390
5
1
1
0
3
1
1
0
4

9999 WG XET 6 998
1
0
1
0
0
0
0
0
2
1

642
723
262
656
7524
209
234

9410 RETT & 380
9420 RHETHHE 207
9430 RETFER 133
9440 RETAEF 8
9450 RHETHER 17
9460 RET{—_HE 27
9470 RETEXR 7
9480 RHETHER 49
9999 RIXXEt 828
99999 &Rt 10 66332



